T JETRIYOT Froer

%mw:—meawﬁ%ﬁwmgﬁmﬁm%ﬁmmm%m
ﬁmﬁwﬁamﬁiﬁ%ﬁmﬁwwwqﬁﬁﬁw%@mﬁﬁwm

R e elsdd

RSP

(ra1$—7.750 faheiho)
=0T0 | B BT M AT EEAE] w gfa CENIN
=T w3 S 1 20 120.00 | =0 120001
3 P O (@19 B o) 1 20 1,578.00 20 1,578.00,
< |T=ST gaM (0.30X0.30X0.45) 1550 TGS 740 | =S 11,470.00
5 |FEr et s 1 20 485.00 %0 485.00
e |79 91 Bea (o 99) 75 TR 1550 o 593 [ iy 9,191.50
7 |TE B gw 3g AR @ e eaes] 1550 iy 1,600.00| 24,80,000.00 |
ST \/
© [T TSN 9, 99 OR Oof el 1 &0 489.00 0 489.00
T I PR R oy -
ANT — WM @RV 25,03,333.50
TEST #R (0.30X0.30X0.45) 1550 TS 130 | 5@ 2,015.00
< |TE @ o (& a¥) ger @a @ 28] 1550 qrey 1.05 iy 1,627.50 -
o A B 1550 e 6.50 gley 10,075.00/ -
£ TERIUY g OTaoaa] 1550 ey 2.74 drer 4,247.00
5 |[FE—ToR T A @ ) 1550 | e 3.00 | e 4,650.00
S BRI way 1550 TS 21%| TeR 325507
DT 9 H gER @ sw—a 9 @[] 9 LIS 6,870.00 A8 61,830.00
= =TI 9 A8 ‘
F B R & B s q@ I BT 0 376.00 %0 376.00 |
Td e qaTft el gl &
52 RE1 STATCl /ERATS B aATe” 4 Ao F| 1 0 277.00 20 277.00 }-
o -
-Ccl 9%
IRT — fdT =mor 85,423.00 |
T T & IR fgaid 9% vewad @ 12 T 6,870.00 [ #r® 82,440.00.}
FIRE B 12 HE -
2 = g e 1 20 653.00 | =0 653.00-"
T — 83,093.00
T T D SR g a9 vewad 9 12 AT 6,870.00 | #® 82,440,00
FTET BRI 12 ATE
2 |FE e o U4 o o 1 B0 653.00 20 653.00
IHT — 83,093.00
T 9N D SN uqe 99 wewad d 12 qrg 6,870.00 AE 82,440,00 |
FRE B 12 HE - - o
2 FEE gReET o | 1 20 653.00 %0 653,80
T — 83,093.00




\

FRPRRFTTRFT TSP FEFETT

L

ety

\iﬂ

!

!

I

IWW ’WM

l

)

w Wl

i

e

5 2R VSO
saecked ‘o1 Mo
|

mg? ém/u

tens Forest Divishe

. ealp Littar Kees

s ATy PrerReT
YT :

A 79

g A TR

T AW —
1 Rour 99 @ SR UEH 99 veREd a) 12 il 6,870.00 LIS 82,440.00 |
SIRETTT BT 12 HIE / )
2 o grem | 1 20 653.00 0 653001
| QT — 83,093.00
T5H WO —
1 Rgor 9 @ SR wed 9y I@REd 9 12 |18 6,870.00 |1 82,440.00 |-
SFRETT BT 12 AR 7
2 |t grem | 1 80 653.00 80 653.0
AT — 83,093.00
FoH T - e
1 RO 99 & SR 9ad 99 YEREE g 12 15 6,870.00 T 82,440.({)/0//
STIRETVT P 12 AT
2 o gRem B 1 0 653.00 0 653.001
QT — 83,093.00 |
TEH WO - "4
1 Ruor o8 & S oreH ad xEREE 9 12 LIS 6,870.00 | A® 82,440.004
STRETT B 12 S ' <
2 | grem @ | 1 20 653.00 20 653.00]
T | 83,093.00]
T A - =
1 RO 99 @ SWR Fad 99 I@R@E 9 12 |18 6,870.00 g 82,44,0,90“
3TFRETT 1Y 12 ATE 3
T2 (el g w 1 20 653.00 0 653.00]
| T — 83,093.001
3 ool AT — 32,53,500.50/
(IR T 7 Ul gETRITT f5d S ¥ ERIT AT - say :- 32,38,159.25"



